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(1) =19

—19=-1%x19=-1%x19=119
(2) —=1225

—1225=—-1%1225=-1x%x1225=2351
(3) =932

—932=-1x%x932=-1x%x932=342i
(4) =53

—53=—-1%X53=—-1%x53=153
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(5) i

126=(i2)13=-1
(6) i

139=(i2)19%xi=(-1)19%xi=-1
(7) D(2D(=71)

(1)(21)(=71)=(212)(=71)=(=2)(=71)=141
(8) —6x—6

—6X—6=—1X6X—-1X6=16X16=6i2=—6
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(9) —4x-8
—4X—-8=—1%X4Xx-1x8=21x221=4212=-42

(10) 2ix-9
2ix—9=2ix—-1%x9=2ix31=6i2=-6
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(11) 2+-42
2+—-42=2+2i2=1+i
(12) 8+-162
8+—-162=8+4i2=4+2i
(13) 10--505
10—-505=10-5125=2-i2
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(14) z=2 + 15i
z=2+15i-Re(z)=2 , Im(z)=15

(15) z=10i
z=10i-Re(z)=0, Im(z)=10

(16) 2z =-16 - 2i
z=—16-2i-Re(z)=-16, Im(z)=-2
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(17) z=-15+ 3i

7z  =-15-3i
= Im
Re
-16-14-12-10 -8 = 2 4
=5
(18)z2=8-7i
Zz =8+ 7i

(19) z=12+ 17i
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z =12-17i

(20) z = -3 - 25i

7z =-3 4+ 25i
(21) 3i
7z =-3i
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3
2
1
Re,
11 ]
=1
=5
_3|!
(22) 15
Z = Ib
4
-.Re
0. 4 8 | 121 18 |
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(23)z=-5+ b5i

z=—5+5iz"=—5-5i|z|=(~5)2+(5)2=52
(24)z=3-3i3
2=3+33iz"=3-33i[z|=(3)2+(33)2=9+27=6

(25) 2 =6 - 8i

z=6-8iz"=6+8i|z|=(6)2+(-8)2=36+64=10
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